

Name :

$$6 \times 18 = \underline{\hspace{2cm}}$$

$$= 6 \times (\underline{\hspace{1cm}} + \underline{\hspace{1cm}})$$

$$= (6 \times \underline{\hspace{1cm}} + 6 \times \underline{\hspace{1cm}})$$

$$= (\underline{\hspace{1cm}} + \underline{\hspace{1cm}})$$

$$= (\underline{\hspace{1cm}})$$

$$5 \times 76 =$$

$$= 5 (\underline{\hspace{1cm}} + \underline{\hspace{1cm}})$$

$$= (5 \times \underline{\hspace{1cm}}) + (5 \times \underline{\hspace{1cm}})$$

$$= (\underline{\hspace{1cm}} + \underline{\hspace{1cm}})$$

$$= (\underline{\hspace{1cm}})$$